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KEL m| -0.21 —0.20 -0.21 -0.21 -0.12 0. 06 —0.04 0.14 0. 05 0. 05 0. 06 0.09
R m3/sec - - - - - - - - - - - -
7 2KR m 0.25 0.28 0.21 0.34 0.30 0.17 0.10 0.18 0.15 0.07 0.13 0.18
# BAKR m 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
" EE] c 3.5 0.5 11.5 16.5 16.5 21.5 25.5 24.0 23.5 18.0 12.5 8.5
-] K& c 3.8 3.7 6.6 14.0 15.9 17.2 21.5 22.0 20.3 14.8 1.1 5.9
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SR (3) OKRRR) - - - - - - - - - - - -
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@ﬁ m - - - - - - - - - - - -
T &E|[pH 1.8 1.6 1.7 7.1 1.3 8.9 1.7 8.0 8.0 1.6 1.6 1.7
5%[BOD me/L - - - - - - - - - - - -
fedod G me/L| - = = = = = = = = = = =
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ag[DO mg/L - - - - - - - - - - - -
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B < [BEX we/l| - B - - - - - B B B B B
LIEYP mg/L - - - - - - - - - - - -
hESOL me/L| - - - - - - - - B B B B
@7 me/l| - - - - - - - - - - - -
3 me/L| - - - - - - - - - - - -
6{fiy 0L mg/L - - - - - - - - - - - -
33 me/L| - - - - - - - - - - - -
BAE e/l - - - - - - - - - - - -
A 7L FLKE me/L - - - - - - - - - - - -
) PCB me/L - - - - = = = = = B B B
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B e/l - - - e e e e e e e e e
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] 1,1,1-FY 50042y mg/L - - - - - - - - - - - -
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. [F954 me/L| - - - - - - - - B B B B
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WEESRRUENBBER we/L| - - - - - - - - - - - -
SoFK mg/L - - - - - - - - - - - -
E5R me/L| - = = = = = = = = = = =
1, a-SAXYY me/L| - = - - - - - - - - - -
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1,2-Ss a7,y me/L - - - - - - - - - - - -
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1VIaFA5> mg/L| - - - - - - - - - - - -
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(e meg/L - - - - - - - - - - - -
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